Dé hAoine 8U-Obair

Tablai

10x4=__ 12x6=__ 6x2=

M+11=_  8x10=__ 24 +8=__
12+6=__ 28+7=__ 6x12=
10x3=__ 10x6=__ 10x7=__
5x3=_ 12x4=__ 4x7=__
1x3=__ 3x5=_ 11x9=_
6x5=_ 2x8=__ 9x8=_
36+4=__ 8x12=__ S5x9=

Mx7=__ 27+9=__ 9+9=_

2%x3= 1x10 = 7 x12=
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English Version p.150 1-4

Number sentences

f

Cigra was running ¢ 10km roce,
After 6km, she stopped for woter
How for had she stll to run?

10-bwh 6+4=10

.

1. Tiek (/] or [X] for each of these number sentences.

(o) A shopkeeper had 28 - (b) There were 45 birds in
peors. She sold 21. a tree. 7 more come
How many peors hod along. How many

(¢) Peter is 29. Edel

Is 4 yeors younger
than Peter. How old

she left?

m 28+21=7]
(i 28-21=7 D
(21 +28=7 [ )
(iW21-28=7 )

(d) Mary had 9 shells

Loura had 6 times this
amount. How many
shells had Lourc?

) 6+9=54 ]
(M9+6=54 [ )
anaxé=54 [
(iv)6x8=54 [ ]

(e)

were in the tree then?
M 45-7=52)
(i) 45+7=52 )
()45 x 7 =52 "L ;
(M&5+7=52[ ]

Mam shared 36 coins
equally amang 4 girls.
How many coins did
sach girl get?

M 36x4=9 ]
Gi) 364+46=9 []
nN36+4=9 D

(iv)36-4=9 [_]

is Edel?
M 29-4=25 ]
(i) 9+4=25 |
(iN2N¥+4=25 ]
(M4x29=25 (]

There were & hats in
each of 3 boxes. There
was 1 hat in another
box. How many hats
were there altogether?

M G-N+1=13 )
i) B+ &e1=13 [ )
Gins+3+1=13 )
MGxNe1=13 [ ]

2.

In your copybook, write word problems for these number sentences,
(@) 18+6=_ ‘(b)) 27+ =38 () 45+
(d) ‘25-‘q' (e) 164 - -28 (f) QS-

=65
=40

. Write the correct sign (4, —, x or <) to make these number sentences correct.

(@ 14( )5=19

@2 )3=8

— e

.@a( ol )u=2

wws( Ja Ja=1s

) 29{ )12=17

@ 56( )8=7

(@ 112( )56=168

0 101( )3=98

w ©3( Jem( J7=10

@me( )i

6H=24

J




Prefixes

Prefix Root word
‘ Prefix bank
anti_ = ogainst fore_=before | pre_=before | trons_=across
en_j/em_=couse o inter_ = between sub_ =under | under =under
non_ = nol super_ = above
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chuala si
d'fhéach mé

thog sibh
rinne me

Nt

a f v e g v b

p O — —
+ O« DY, A o

=3 le

c © o £ W +

d)

Q
u.u
(=]
Lo
O
S
7
.‘m
(=
(=
<

fuair si

chonaic sé
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An Aimsir Chaite Answers

—_—a—s—a S5 +

—

bhris mé chuamar d'ith sé
rith tu thog sibh d'al ta
chonaic sé bhi siad chuala si

fuair si rinne mé d'fhéach me
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